COMMERCE

Paper - 11
Signature of Invigilators OCT-10/17 Roll No.
(In figures as in Admit Card)
L e Roll No. woooveeoo
(in words)
Time Allowed : 75 Minutes] [Maximum Marks : 100

- Instructions for the Candidates
1.  Write your Roll Number in the space provided on the top of this page.
2.  This paper consists of fifty (50) mul iple choice type questions, All questions are compulsory.
3.  Each item has upto four alternative responses marked (A), (B), (C) and (D). The answer should be
a capital letter for the selected option. The answer letter should entirely be contained within the
corresponding square.

Correct method A Wroﬁg method ] OR m

Your responses to the items for this paper are to be indicated on the ICR Answer Sheet under
Paper II only. :

Read instructions given inside carefully.

Extra sheet is attached at the end of the booklet for rough work.

You should return the test booklet to the invigilator at the end of paper and should not carry any
paper with you outside the examination hall.

There shall be no negative marking.

Use of calculator or any other electronic devices is prohibited.

In case of any discrepancy in Gujarati and English version of Questions the English version should
be taken as final. _

wulwl w2 ya-uad :

Lo weell s sulddl wouni ul Aasioy @il

T AR agdsRus GuRl gl s N (W0) umdl wden B, ML ¥ w2 Brud 8.

3. ucs e qgui c:.& AR ogdsRus Guil 424 B. ¥ (A), (B), (C) (D) a$ sulaani ey
8. uﬂﬁgﬁ{n lea dal ad 2uyai-l 289, Gual it sy WAL GRA6 AHUS MY 4 A
avigiddl WA, '

w3l Ad A widl a ] , IK,

¥ ¥y wle ICR Answer Sheet -u Paper IT Rewstl 03 »ud wusuziini
C MUl 484, : '

U ¥eR 20d Yarieil siawyds aidy,

F. W ogsdell i g wg e sy w2 . .

9. wdlaw any Y21 uS ou wefl 2 oAz ¥ A RAFlasa Al tll. siSum s wlew visdl seR
a4 oal -l -

€. w2l wue W2 AR Ais uuL ],

€. desyder A SAsARs i wlot srarll wus B,

0. HAAWA WML Yol A 2w ounicui S R Rt 1A dl saw Wl % My ARAMI iad.

Commerce-I11 1 [P.T.0.]

OO0 I3 L
o bl !




Commerce-11




Note

g :

COMMERCE
PAPER - II

U@y
Yu-I1

: This paper contains FIFTY (50) Multiple-choice/Assertion/Reasoning/Matching
questions. Each question carrying TWO (2) marks. Attempt All the questions.

U] YR (W0) etgAscllu Uadl, W-vilg A RAss sietail il O,

U Ul YU dvatdl 8. Hdlls Ul ) () a B,

The components of political

environment include :
(A) Legislative

(B) Executive

(C) Judiciary

(D) All of the above

In a country, the rate of inflation
1s managed by :

(A) Supply of money

(B) promotion of exports

(C) Decrease in capital formation
(D) Increase in imports

Which one item is not the part of
India’s annual budget ?

(A) Expenditure proposal

(B) Tax proposal

(C) Generation of capital formation

(D) Major policy announcement
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Foreign Trade (Development and

‘Regulation) Act of 1992 was

implemented :

(A) For enhancing the volume of
FDI

(B) For regulating the FIIS

(C) For facilitating imports in
India

(D) For generation of employment

In which year PSUs were brought

within the jurisdiction of the Board

for Industrial and Financial

Reconstruction :

(A) 1985

(B) 1991

(C) 1995

(D) 1998

Under AS-9 interest for the use of

cash-resources is recognised on a :

(A) Receipt basis

(B} Due basis

(C) Time-proportion basis

(D) None of the above
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A Hability taken-over by a partner

at the time of dissolution is credited '

to :

(A) Profit and Loss Alc

(B) Partners’ Capital A/c

(C) Realisation A/c

(D) Revaluation A/c

In case_of amalgamation in the
nature of purchase, liquidation
expenses of the transferor company
borne by the transferee company are
debited to :

(A) Profit and Loss Alc

(B) Realisation Alc

(C) Liquidation Expenée Alc

(D) Goodwill A/c
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10.

A company maintains a margin of
safety of 25% on its current sales
and earns a profit of Rs. 30 lakhs
per annum. If the company has
profit-volume (P/V) ratio of 40%, its
current sales amount to :

(A) Rs. 200 Lakhs

(B) Rs. 325 Lakhs

(C) Rs. 300 Lakhs

(ID) None of the above

Animesh Ltd. issued 10,000 shares
of Rs. 10 each at face value. The
called up value per share was
Rs. 8. The company forfeited 200
shares of Mr. Bhargav for non-
payment of 1st call money of Rs. 2
per share. He paid Rs. 6 per share
for application and allotment
money. On forfeiture, the share
capital account will be :

(A) debited by Rs. 2,000

(B) debited by Rs. 1,600

(C) credited by Rs. 1,600

(D) debited by Rs. 1,200
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11.

12,

13.

Demand for a product depends
upon :

(A) Economic factors only

(B) Economic and quality factors
(C) External factors

(D) Number of consumers only
A consumer purchases a maximum
of ten units of a product at any
price. The price elaéticity of demand
for the product was found to be
—0.5. When the price is Rs. 4 per
unit, the consumer would buy :
(A) Ten units of the product

(B) Six units of the product

(C) Eight units of the product
(D) Four units of the product
The indifference curves in an

indifference map cannot intersect

because :
(A) of their slope
(B)' these curves represent

different levels of utility

(C) these curves are drawn for two
goods

(D) these are decided by the

income of the consumer
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14.

15.

16.

The law of variable proportions

works in which sequence ?

(A) constant returns, increasing
returns, diminishing returns

(B) Increasing returns, constant
returns, diminishing returns

(C) Diminishing returns,

increasing returns, constant

returns
(D) None of the above
A price skimming strategy means :
(A) Charging high prices initially
and then reducing it as

competition increases.

(B) Introduction of the product at

a very low price

(C) Charging different prices in

different markets

(D) Charging different prices from

different consumers

In stratified sampling, size of a
sample depends on :

(A) Homogeneity of a stratum -
(B) Number of stratums

(C) Stratum size

(D) Cost allocated for taking a

sample
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17.

18.

19.

Which of the following is not a type
of bar chart ?

(A) Sub-divided

(B) Percentage

(C) Ogive

(D) Multiple

Which of the following is not a data
collection and summarisation
technique ?

(A) Principal Component Analysis
(B) ANOVA

(C) Factor Analysis

(D) Canonical Correlation Analysis
Most of the non-parametric methods
utilize the following measurement :
(A) Nominal scale

(B) Ordinal scale

(C) Ratio scale

(D) Interval scale

Commerce-I1

17.

18.

19.

(A WH sy fouz AR AL USSR
¢l :

(A) wid [Qsumd

(B) 2s1all

(€) »illa

(D) nslay

QA T8l 55 dvencns wiledld
cMgolse i dakdlse” el

‘ ygla Ayl :

(A) yeu ool [asdus

(B) ¥lHidl (Anova)

©) wWRoa [Qsdmel

D) 3-ii-lise wasioia [QsQuy
el ool Birt-ulRMieies ualazil
QAL HLuAAL Gudlol s 8 ¢

(A) ~UHYsd Sat

B) sMs Avui s21

(C) »idud Sal

(D) el st

[P.T.0.]




20. The

21.

22,

coefficient

determination (Rz) is defined as :

Explained Variation

A) RZ2-1-
(&) Total Variation

Unexplained Variation
Total Variation

(B) R? =

Explained Variation
Total Variation

(D) None of the above

(C) R2 =

Which of the following is not the 21,

functional area of management ?
(A) Marketing

(B) Production

(C) Planning

(D) Finance

Principle of span of control refers  22.

to :

(A) Degree of control

(B)

Centralization

(®)

Number of persons under one
direct supervision

(D) None of the above
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23.

24.

25.

Informal” organisation is created 93

by :

(A) Management

(B) Imfnediate boss

(C) Natural and spontaneous

creation

(D) Trade Union

Theory ‘Y’ was propounded by : 24.

(A) Mec. Gregor

(B) Peter Drucker

(C) F.W. Taylor

(D) George Elton Mayo

Which of the following is not the  25.

stakeholder in business ?
(A) Investor

(B) Customer

(C) Local Community

(D) None of the above
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26.

27,

28.

Some combinations of products,

services, information or experiences

" offered to a market to satisfy a need

or want. It is known as :

(A} Marketing Mix

(B) Market Segmentation

(C) Market offering

(D) Marketing Myopia

It is the combined discounted
customer life tifne values of all the
companies’ current and potential
customers. It is called as :

(A) Customer Satisfaction

(B) Customer Value

(C) Customer Equity

(D) Customer Delight

This approach to marketing
attempts to recognize and reconcile
the scope and complexities of
marketing activities :

(A) The holistic marketing concept
(B) The marketing concept

(C) The selling concept

(D) The product concept
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29.

30.

31.

It is the set of all products and items
a particular éeller offers for sale. It
is called as :

(A) Product line

(B) Product mix

(C) Product system

(D) The product hierarchy

It is a diverse collection of incentive
tools, designed to stimulate quicker

buying of a particular product or

. service by consumers or the trade.

It is related to :

(A) Advertising

(B) Personal selling

(C) Publicity

(D} Sales promotion

Which of the following are the
micro-economic variables that help
to define and explain the discipline

of finance ?

(A) Risk and return
(B) Capital structure
(C) Inflation

(D) All of the above
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32.

33.

34.

The......covevveneee is the percentage

change in operating income that

results from the percentage change
in sales.

(A) Degree of financial leverage

(B) Break-even point

(C) Degree of operating leverage

(D) Degree of combined leverage

The multiple IRR are possible

when :

(A) cash flows in the early stages
of the project exceed cash flows
during the later stages

(B) Cash flows reverse their signs
during the project life

(C) Cash flows are uneven

(D) None of the above |

When a firm advises its customers

to mail their payments to special

post-office collection centres, the
system is known as :

(A) concentration banking

(B) lock-box system

(C) playing the float

(D) post-office collection
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35.

36.

37.

38.

According to Net-operating income
approach the average cost of
capital :

(A) declines as debt-equity ratio
increases

(B) increases as debt-equity ratio
increases

(C) remains constant irrespective
of changes in debt-equity ratio
(D) Keeps on fluctuating with
increases in debt-equity ratio
The final factor in deciding the
supply of manpower is :

(A)
(B)

Issuing advertisement

Preparing replacement chart

(C) Analysing labour markets

(D) Auditing present employees

360 degree appraisal is :

(A) Evaluation based on key
incidents

(B) Order of rating from best to
worst

(C) Comparing rates to one
another

(D) Evaluation by boss, peers and
subordinates

The most reliable and valid tests are
generally :

(A) Attitude test

(B) Intelligence test

(C) Personality test

(D) Performance test
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39.

40.

41.

42,

In an incentive plan workers’ pay
is determined by : |

(A) Management

(B) Profits

(C) Seniority

(D) Performance

Group incentives would work best

among :
(A) Accountants

(B) Salesmen

(C) Assembly line workers

(D) None of the above

Which one of the following is not

a financial institution ?

(A) Reserve Bank of India
(B) Finance Ministry
(C) State Bank of India

(D) Life Insurance Corporation

The Deposit Insurance and Credit

Guarantee Corporation of India was

established in the year :
(A) 1978
(B) 1968
(C) 1988
(D) 1996

Commerce—I1

16

39.

40.

41.

42.

Nicss Ao diadld sl
YR ssl sl wd ¢

(A) AAgd-e gLl

(B) «iSL5135dl gLl

(C©) aldsdl gl

(D) ud gl

g Ulcdledl Guy d A2l
stdd uql

A) [Sae{lal

I CERTERN

(©) wsBd Juinl stHslRd

(D) Gua-idl s1S sl

AL Usl 55 -uaiisla qe <2l :
A ol Rod 6w

(B) [ad Holldy

(C) we Ors s Slesur

D) URdld a- [Qw [Rom

‘o [Bulofle Sl vivs 3082 AT
siulaq s Slesur’’ 1l @iyl
(AL arlai s2aimi vddl edl
(A) 1e9c

(B) a¢s¢

(C) qecc

(D) s




43.

44,

45.

46.

Which of the following statements
is not true ?
{A) The

Corporation of India provides

Industrial Finance

long and medium term
financing

(B) The Industrial Development
Bank of India re-discounts
commercial bills

(C) The Reserve Bank of India
invests in the equity market

(D) The State Bank of India gives
loans to small businesses

Which of the following is not a

component of Credit Risk ?

(A) Payment Default

- (B) Exchange Rate Fluctuations

(C) Counter Party Risk

(D) Political Risk

Cooperative Banks are meant for
the :

(A) Rural Economy

(B) Urban Economy

(C) Semi-rural Economy

(D) Globalized Economy

What risk should a firm dealing in
international business protect itself
from :

(A) Risk of Life

(B) Political Risk

(C) Risk of Earthquake

(D) Risk of Injury
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47. Under Liberalized Exchange Rate 417.

- Mechanism in India :

(A) Exporters were allowed to
retain part of their earnings in
foreign exchange

(B) Tourists were allowed to carry
unlimited foreign exchange

(C) Foreign exchange transactions
for imports were restrained

(D) None of the above

48. The “Soft Loan Window” of World 48,

Bank is :

(A) International Monetary fund

(B) International Finance
Corporation

(C) International Development
Agency

(D) Asian Development Bank

49, Intellectual Property Rights : 49.

(A) Are licensed through patents

(B) Are related to non-physical
products

(C) Are related to technology

(D) All of the above

50. In which year the GATT was 50.

formed ?

(A) 1950
(B) 1947
(C) 1970
(D) 1975

Commerce—1I 18

Mlzdla Gelr @MUY e Bulak

»idold :

A [Asastia dztiq @l aael
siiasdl (B [zl aqusi
gadl  ualdl  wgrAeit
syl aiddl edl

(B) nar{latia 204RBa [Qzell yas
48 wal eadldl dd ¢

(C) »udldl ol [a2ell adei
ALl AR s3] A
st

(D) GuAUHEl 1S Al
[Qaq ols] ‘w124 ain o l-fussl’

-

£9

(A) idAY iy eisin
(B) 2idvdly iisly (Ram
(C) Aidundly [asu sly==dl

D) AR [@Qsy 6o

olllgs Aula- »B@s :

(A) Vererl gl 2R sHl U9
3

(B) wyd Uslatl wd deilad &

(C) 2s+tiddiew WA AsiAq B

D) GUAL oEl %

syl aeldi 92 (GATT) -+l -l

sl wadl edl ? '

(A) 1O

(B) 1¢¥9

(C) 190

(D) 4coy




ROUGH WORK

Commerce-I1 19




ROUGH WORK

Commerce-II 20




